A - LB K, B

{Ef% ARy ORI H81% A% 14

FREMEZEIFSE, TOBEZORY hTBIRIZ LT, 1. O/Ry hZEHER S DB FTR - SIEIC DLW THERI(CFEY

SHA - B RFACDWTHERN (CH BT I BMERTET 3. B1E0ORY bOFIIICONWTHARZITO TS,
2. FIEIHEBEAVTEEREL, BOMMEBRLUE.
s 3. ORw ROBWEL, AN UEFEOBENSAZMBESM
H R BRENE.

- 5B - IS RFACEEIY, OYEa1—4, 7OF1T—FID
3IDDEEN SEEEN TS, S DREE

o RSN - ZREE, B BOBROXMODFZTE, 508 - B . sFEE=emUrEmEORY ~oslg
SRFTLADHHEHZIBRET D ENFBIBEBERITREINTVD. «  EORBLSOBIEDENN & DDV SDHI4

B 55 22 i R SN 5 /) £/ < {1 7
BU)ata
© (2 S I i

E
[ElERf AR
@Ry bo =2 (=
L FiROBE — “ (ﬁﬁ
Oy ~oig HY—RE—-% ORy ko Y-RE-5

Y4 ZX<— L (SainSmart) #8
NAF =y ARy b

ARy b EWRT 2 ER]
1. EBO#REH E18
2. H—RE—% -
LADEIEHLTLD H—RE—IHEHEDCEEL, Y—RE—IHREEDCEEL,
s BRI RESICTET BRI REFITTET
3 R RN S EBHMEUS
ORyY hDIgFK EH—HRR—>
DENBEENTLND
SEEEEa-v/AF -afy b - T=LE&NYF, EF https//i 1.

F J2 D50 ) BEf et o

FHOEHICIELeap MotionZ{E 5 BEAEGEERLEEEZAN:
H [y #m
4
N7

R 7 =g / w2
Leap Motion N !
Leap Motion& (&, FEDEMFZRMIDET

| EB L A= (x, 3, 2)
| BEB LB = (x,, v, 2)
PFF L C = (xs, ys, 23)

a=(xg=x3)% + (2 —y3)? +(2, —23)?
b= =% 401 =y)2 @ =2 |l o (a2 +b? — cz) |

> Ea— 5 DRENEIRERT) A X T4DDBIEFLDIRTTBAR | ¢ =Vl —x2)? +01 =y2)? +(z1 —2)? 2k
ZESY 3 MR DR EE = RUEE
ESIES LN x A= UiEDBa BIEN A E DX 21E Bage e
£1, 2EHDAETHETS Processing CRAET A K% Arduino TE {8 — DRy
CED XFELTEE T AT —RE—RLAEERETR

Processing Arduino AZEUIEY—RE—H

= " f =
F1EM0 > 140 Fi " P ” A%LJ E‘o) :E—@E
> —>1002 BOHY—R —
o] |[AEUE

B G Ry -5
= L EiE 7 — & EE =2 (=} —ZINE—
—— L= A 180

28980 > 165 289 <140 A OB EZ W Z LI e -
$510980 > 1405 1880 <1108 1XFELUTTLS, e o
—— EERT£Es

[)C—1 &HiR [J—]1 &I




